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Find the position and time when the two bikes meet 

a) Algebraically: Find the position and time using mathematical expressions.

b) Graphically: Construct a position-versus-time graph for the two bike trips.

Solution:
We can describe the motion of the first bicyclist using mathematical expression 
x1 = 5t,

and for the motion of the second bicyclist we have 
x2=640-7t.

They meet at the instance when 

x1 = x2
that is 
5t=640-7t.

By solving this equation we get 

t = 53.3sec.

To find the position we have to substitute this time into any of the mathematical expressions describing the motion of the bicyclists, for example the first one:

x1 = 5×53.3 = 266.7m.
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To solve the problem graphically we have to plot the graphs representing motions of the bicyclists. Then the point of intersection of the two graphs represents the meeting point. The t-coordinate of this point is the time when the two bicyclists meet, and the x-coordinate represents the 
position where they meet.
7 m/s





5 m/s





640m





X





0





600





500





400





300





200





100





0





120





100





80





60





40





20





t, s





x, m








